
72Br Z = 35 N = 37 adopted link ENSDF link

Based on ENSDF from Oct 2022, and mass evaluation from 2020

BE = 612.815 ( 0.001) MeV

Qbeta+ = 8.806 ( 0.002) MeV

Energy T J+ J- J-other T1/2

-----------------------------------------------------------------------------------------------

72BR 1 | 0.000 1+ | | 1 78.6 S 24

72BR 2 | | | 0.101 (3-) 2 10.6 S 3

72BR 3 | | | 0.124 (1) 3

72BR 4 | | | 0.131 (2-) 4

72BR 5 | | | 0.163 5

72BR 6 | | | 0.218 (1,3) 6

72BR 7 | | | 0.230 (3+) 7

72BR 8 | | | 0.289 (3+) 8

72BR 9 | 0.310 1+ | | 9

72BR 10 | | | 0.314 1(-) 10

----------- -----------------

72BR 11 | | | 0.328 1(-) 11

72BR 12 | | | 0.333 (3-) 12 0.51 NS 12

72BR 13 | | | 0.371 (4-) 13 2.1 NS 4

72BR 14 | | | 0.379 1(-) 14

72BR 15 | | | 0.393 15

72BR 16 | | | 0.398 (2-) 16 101 PS 20

72BR 17 | | | 0.403 (4-) 17

72BR 18 | 0.415 1+ | | 18

72BR 19 | | | 0.467 (5-) 19 0.37 NS 16

72BR 20 | | | 0.510 1(-) 20

----------- -----------------

72BR 21 | | | 0.544 (5+) 21

72BR 22 | | | 0.545 22

72BR 23 | 0.576 1+ | | 23

72BR 24 | 0.577 1+ | | 24

72BR 25 | | | 0.603 25

72BR 26 | | | 0.659 (5-) 26 155 PS 16

72BR 27 | | | 0.668 (4-) 27 106 PS 14

72BR 28 | | | 0.682 1 28

72BR 29 | | | 0.708 1 29

72BR 30 | | | 0.717 (6-) 30 1.7 NS 2

----------- -----------------

72BR 31 | | | 0.722 1 31

72BR 32 | | | 0.749 (5-) 32

72BR 33 | 0.756 1+ | | 33

72BR 34 | | | 0.796 34

72BR 35 | 0.902 1+ | | 35

72BR 36 | 0.939 1+ | | 36

72BR 37 | | | 0.958 (7-) 37 9.0 PS 21
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72BR 38 | | | 0.991 (6-) 38 85 PS 8

72BR 39 | 1.028 1+ | | 39

72BR 40 | | | 1.154 1(-) 40

----------- -----------------

72BR 41 | | | 1.173 1 41

72BR 42 | | | 1.188 (7-) 42 16 PS 2

72BR 43 | | | 1.260 (7-) 43

72BR 44 | | | 1.319 (7-) 44

72BR 45 | | | 1.323 1 45

72BR 46 | | | 1.345 (8-) 46 71 PS 4

72BR 47 | 1.386 1+ | | 47

72BR 48 | | | 1.448 (9+) 48 59 PS 4

72BR 49 | 1.605 1+ | | 49

72BR 50 | | | 1.612 (8-) 50

----------- -----------------

72BR 51 | 1.704 1+ | | 51

72BR 52 | | | 1.722 52

72BR 53 | 1.772 1+ | | 53

72BR 54 | 1.799 1+ | | 54

72BR 55 | 1.835 1+ | | 55

72BR 56 | | | 1.944 1(-) 56

72BR 57 | | | 1.950 1(-) 57

72BR 58 | | | 1.988 1(-) 58

72BR 59 | | | 1.990 (9-) 59

72BR 60 | | | 2.082 (9-) 60

----------- -----------------

72BR 61 | | | 2.186 (10-) 61

72BR 62 | | | 2.480 (10-) 62

72BR 63 | | | 2.498 (11+) 63

S-alpha= 2.592 ( 0.002)----------------------------------------------------------------------

72BR 64 | | | 3.027 (11-) 64

72BR 65 | | | 3.078 (11-) 65

S-p = 3.204 ( 0.003)----------------------------------------------------------------------

72BR 66 | 3.305 1+ | | 66

72BR 67 | | | 3.330 (12-) 67

72BR 68 | | | 3.516 (12-) 68

72BR 69 | | | 3.629 (13+) 69 0.35 PS 10

72BR 70 | | | 4.204 (13-) 70

----------- -----------------

72BR 71 | | | 4.327 (13-) 71

72BR 72 | | | 4.716 (14-) 72

72BR 73 | | | 4.718 (14-) 73

72BR 74 | | | 4.887 (15+) 74

72BR 75 | | | 5.324 (15-) 75

72BR 76 | | | 5.361 76

72BR 77 | | | 5.516 (15-) 77

72BR 78 | | | 5.653 (14+) 78

72BR 79 | | | 5.992 (16-) 79

72BR 80 | | | 6.242 (16-) 80

----------- -----------------
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72BR 81 | | | 6.265 (17+) 81

72BR 82 | | | 6.563 (17-) 82

72BR 83 | | | 7.049 (17-) 83

72BR 84 | | | 7.104 (16+) 84

72BR 85 | | | 7.376 (18-) 85

72BR 86 | | | 7.877 (19+) 86

72BR 87 | | | 7.912 (18-) 87

72BR 88 | | | 7.967 (19-) 88

72BR 89 | | | 8.090 89

72BR 90 | | | 8.753 (18+) 90

----------- -----------------

72BR 91 | | | 8.804 (19-) 91

72BR 92 | | | 8.809 (20-) 92

S-2p = 9.306 ( 0.002)----------------------------------------------------------------------

72BR 93 | | | 9.530 (21-) 93

72BR 94 | | | 9.746 (20-) 94

72BR 95 | | | 9.819 (21+) 95

S-p = 3.204 ( 0.003)----------------------------------------------------------------------

S-n = 10.631 ( 0.005)----------------------------------------------------------------------

S-2p = 9.306 ( 0.002)----------------------------------------------------------------------

S-2n = 23.779 ( 0.015)----------------------------------------------------------------------

S-alpha= 2.592 ( 0.002)----------------------------------------------------------------------

S+p = -4.779 ( 0.007)

S+n = -12.655 ( 0.007)

S+2p = -7.432 ( 0.003)

S+2n = -22.369 ( 0.006)

S+alpha = -3.842 ( 0.001)

gap p = -1.575 ( 0.007)

gap n = -2.025 ( 0.009)

gap 2p = 1.874 ( 0.004)

gap 2n = 1.410 ( 0.016)

gap alpha = -1.250 ( 0.003)
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